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EI : An insurance company designates people as
" accident - prone

"

or not . Someone
that is accident-prone has 40% chance of

having an accident in the 1st year of
a policy , while

someone
who is not accident-prone has only half that

chance .

Q1: If soy. of the population is accident-prone,
what is

the chance of a new policy holder having
an accident in

their first year
?

Ae - having an accident in 1st year
PCA)- 0.3 , PCA)-0.7

A = being accident-prone .

HAHA) - 0.4 PLAIA) -0.2

PCAe) =P(AHA)P(A) +PlastA)
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Q2 : If a new policy holder had an accident in their

1st year,
what is

the prob . they are accident-prone ?

NAIAD - PHAI = PHH¥nI= 0.4*0-3 - ¥
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EI: Suppose that a multiple choice question in a Final

Exam has 5 alternatives
,

and only 1 is correct .

The probability that a
student knows the answer

to that question is p,
and if the student doesn't

know it , they guess
the answer at random .

a) what is the prob .

that the student knew the answer

da they got
the correct answer ?

D= Knowing the answer

C = getting the correct answer
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b) what is the prob .

that the student got the
correct answer

and did not know the correct answer ?
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Monty Hall problem
-
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EI : COULD tests
-

(with viral load 3:)
• PCR test is positive
w/ 90T. prob .

• Antigen test is positive
w/ Loy ,

prob ./ Exam's:S :

From Google : Population of NY State : 19.45 million

( NYTimes) 7 - day average of cases

per day in NY State : 7,400

74 , ooo
⇒ Prevalence of disease :

,aeo
E- 0.004

( disease loots
do DMs)

f- 0.4%)
Q: If you get a positive PCR test

,
whet is the

prob . that you actually have corns?

D= Have the disease (could

E- = Test is positive ( "evidence") og 0.004

PCR: -m
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Antigen :
-0.004
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rise
/ PLED) false positives

prob . of test probability If we replace :

being positive of a false positive

given
that disease PCEIDC) - 0.001

is present .
PIDIE) - 0-9-0.0042 =78.33%7

0.9-0.004+00050.996 to
MYmaking this

smaller increases
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